

ADEBAYO TEMILOLUWA F.
MECHATRONICS ENGR.
16/ENG 05 LODI.

Assignment 2

15)

$$y = e^{x^2+x}$$

$$\therefore \frac{dy}{dx} = (2x+1)e^{x^2+x}$$

$$y' = (2x+1)e^{x^2+x}$$

$$\frac{d^2y}{dx^2} = u \frac{dv}{dx} + v \frac{du}{dx}$$

$$u = (2x+1)$$

$$v = e^{x^2+x}$$

$$\frac{du}{dx} = 2$$

$$\frac{dv}{dx} = (2x+1)e^{x^2+x}$$

$$\frac{d^2y}{dx^2} = (2x+1)[(2x+1)e^{x^2+x}] + 2x e^{x^2+x}$$

~~$\frac{d^2y}{dx^2}$~~ recall $y' = (2x+1)e^{x^2+x}$
 $y = e^{x^2+x}$

$$\therefore \frac{d^2y}{dx^2} = (2x+1)y' + 2y$$

$$\therefore y'' = y'(2x+1) + 2y$$

$$\therefore y'' - y'(2x+1) - 2y = 0$$

$$n^{\text{th}} \text{ derivative of } y'' : y^{(n+2)}$$

n^{th} derivative of $y'(2x+1)$:

$$y'(2x+1) = \sum_{r=0}^n \binom{n}{r} u^{(n-r)} v^r$$

$$\therefore y'(2x+1) = \binom{n}{0} y^{(n+1)}(2x+1) + \binom{n}{1} y^{(n)}(2x) + 0$$

$$\therefore y'(2x+1) = (2x+1)y^{(n+1)} + ny^n$$

$$2y = 2y^n$$

$$\therefore y^{(n+2)} = (2x+1)y^{(n+1)} + 2ny^n + 2y^n$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^n$$

2.) i)

$$y = x^3 e^{4x}$$

using Leibnitz theorem

$$y^n = \sum_{r=0}^n \binom{n}{r} u^{(n-r)} v^{(r)}$$

$$u = e^{4x}$$

$$u^n = 4^n e^{4x}$$

$$v = x^3$$

$$v' = 3x^2$$

$$v'' = 6x$$

$$v''' = 6$$

$$v^{(4)} = 0$$

$$\therefore y^n = \binom{n}{0} u^{n-0} v^0 + \binom{n}{1} u^{(n-1)} v^1 + \binom{n}{2} u^{(n-2)} v^2 + \binom{n}{3} u^{(n-3)} v^3 + 0$$

$$y^n = 4^n e^{4x} x^3 + n 4^{(n-1)} e^{4x} 3x^2 + \frac{n(n-1)(n-2)!}{(n-2)! 2!} 4^{(n-2)} e^{4x} \cdot 6x$$

$$+ \frac{n(n-1)(n-2)(n-3)!}{(n-3)! 3!} 4^{(n-3)} e^{4x} \cdot 6 + 0$$

$$y^n = 4^n e^{4x} x^3 + n 4^{(n-1)} e^{4x} 3x^2 + n(n-1) 4^{(n-2)} e^{4x} 3x + n(n-1)(n-2) 4^{(n-3)} e^{4x}$$

$$y^5 = 4^5 e^{4x} x^3 + 5 \cdot 4^{(4)} e^{4x} 3x^2 + 5(4) 4^3 e^{4x} 3x + 5(4)(3) 4^2 e^{4x}$$

$$y^5 = 1024 e^{4x} x^3 + 3840 x^2 e^{4x} + 3040 x e^{4x} + 960 e^{4x}$$

ii) x

$$ii) \quad x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$x^2 y'' + x y' + y = 0$$

Let A be the n^{th} derivative of $x^2 y''$

$$A = {}^n C_0 y^{n+2} x^2 + {}^n C_1 y^{n+1} 2x + {}^n C_2 y^n 2 + 0$$

$$A = y^{(n+2)} x^2 + n y^{(n+1)} 2x + n(n-1) y^n$$

Let B be the n^{th} derivative of $x y'$

$$B = {}^n C_0 y^{(n+1)} x + {}^n C_1 y^n \cdot 1 + 0 = y^{(n+1)} x + n y^n$$

Let C be the n^{th} derivative of y

$$C = y^{(n)}$$

$$\therefore A + B + C = 0$$

$$\therefore y^{(n+2)} x^2 + n y^{(n+1)} 2x + n(n-1) y^n + x y^{(n+1)} + n y^n + y^n = 0$$

$$\therefore x^2 y^{(n+2)} + 2x n y^{(n+1)} + x y^{(n+1)} + n(n-1) y^n + n y^n + y^n = 0$$

$$\therefore \gamma L^2 y^{(n+2)} + (2n+1)\gamma L y^{(n+1)} + (n^2 - n + n + 1)y^{(n)} = 0$$

$$\therefore \gamma L^2 y^{(n+2)} + (2n+1)\gamma L y^{(n+1)} + (n^2 + 1)y^{(n)} = 0 //$$